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The Chairman of ASEAN (Association of South East Asian Nation) is

Rodrigo Duterte B)

W Lee Hsien Loon

Yukia Ameno

(D) Thongloun

QgandlpsE < flu prpsafer shisgdar (ASEAN) gaaeut

(A)  GuriMGer Lyy@ it (B)

© SEargi . D)

wpShwm o8l Geor

HrgGame

Since 1993 Collegium System in India is a search committee for

(A) appointing Vice Chancellors in University

\M appointing judges in Supreme Court and High Court

(C) appointing health administrators

(D)  appointing Directors in Welfare Board

sCaefwib erenanid CoLd Gy 1993 pge QpHurailé

(A) uLos®EsSDS SlenaTCapgiamear Hlubl&sswn

(B) amr’rﬁ;ﬂme&rg}tﬁ whyd 2 &shHwem fHudsmer HLLIEGLD

C) sssry rj,]ﬁaurra; Qui@nismar HluifléE@n
D) poarflu Quigpisea Bluwblé o

Jan Dhan Yojana is an insurance scheme for

(A)  Children education B)

M Farmers welfare (D)

- gpén sem Guinggenn erengyd STUIH L
(A) @Epgbwgﬁ.ﬂﬂsh g6 (B)
(C) efeusmisafien meer (D)

Widow welfare

Health development

eflganeu Heve
SIS (PperGenhmb
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4. Pagladia Dam Project 1s Iocated in which state?
(A)  Arunachal Pradesh (B) Tamil Nadu
(C)  Uttar Pradesh M Assam

USQTgW jenent SlUL 1D erhs wibleddle o drers)?

A)  smenree GyCgen B) s BrE
©) 2585 ACse> (D) &b
5. National Science Day is celebrated on
M February 28 - | (B) March 28
. (©) TFebruary 18 (D) March 18
Caslwu siflediwed SHebd Sienn AararmLiu@Ens.
(A) Qg 28 (B) w28
(©) Gigeuf 18 D) wrs18
6.‘. Which is the first federal foray into water pollution?

M Federal Water Pollution Control Act of 1948
' (B)  Federal Act of India 1960

(C) Federal Water Ac§ 1945

(ID)  Federal Act of 1950

eranLg) Bit reLm’ g @ (PS5 gal LenolUTEib.
(A)  1948-an s fit s sL_GOUTCE #LiD

(B)  1960-c> @puwineflcn s &' b

(C)  1945-6n @iSlwimalen B a1 Lib

(D) 1950-it wsShu &L 1b

HORGS/2019 | 4
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i The expansion of GDP is

M Gross Domestic Product & (B) Gross Development Product
(C)  Gross Domestic Percentile (D) Gross Development and Planning
GDPan eflfleurgsin
(A)  Gross Domestic Product (B) Gross Development Product
(C)  Gross Domestic Percentile (D) Gross Development and Planning

8. WIMAX is related to which one of the following
(A) Biotechnology (B) Space technology

(C)  Missile technology M Communication technology

WIMAX eremuig) @s&m@ma‘rm@@sﬁ eThg Aasmflé mhuSanss FTTHes?

(A)  Biotechnology (B) Space technology
(C)  Missile technology (D) Communication technology
9.  Who discovered Gamma rays from the following?
M Paul Villand (B) Marie Curie
J.J. Thompson (D) Adam Osborne

Gamma sdlrsemer saur(HNy SHeum wmm?
(A) . umed eflam (B) Gl gy f

(C)  J.J. gmbenven (D) b spevGumiten

i
o
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10. When sound waves travel from one medium to another medium, the quantity that'remaiq
unchanged is

(A) Speed “%?re quency

(C) Intensity (D) Walve]ength

P @asd G 2o 558 mbE LHADTM 2m_asdhE QeogbCurg, SDESETLIDMIET ergen
DIETEY LMD TH (HEGLD?

(A) CGausbd ’ (B)  edrQesr
(C) Geadley D)  =eweaperd

11. In 2014, Nobel prize for physics was awarded for the invention of

(A)  White light emitting diodes | MB].ue light emitting diodes
(C)  Red light emitting diodes (D) Green light emitting diodes

2014-opp  yawrged, Quipbueisstar Crruaw uflers Spssean. esen @Gy GHEsTs

CULPERIGLILIL L &I7?
(A)  Qeuamaenn garfl 2 10 ent Cuim@aer (B)  Ba gafl 2180 en_Guin@aer
(C) Aaiy gefl 2.0 enCuir(Baer (D) uéens gpafl 2 101D e _CuimBser
12. A spring is hung vertically with a mass ‘m’ attached to its lower end, the spring experiences

an elongation ‘d’. Then the force constant of the spring is proportional to

(A) dlm (B) md

M mid (D) m?d

@M sblssmer OCemigsans demhsed ul Qeterg. osar  Sp  paenuild  Hlen  m
sLLUuC Rerargme), sblEsmer d eranp Bor BLfloow sewLfpg. HLCugl, sbGssmaflen clans

wrdledluflen Crissse
(A dim B) md
(© m/d D) mid
HORGS/2019 _ 6 =



13.

14.

15.

L

When Sardar Bhagat Singh, Shiva Ram Raja Guru and Sukhdev were hanged?

(A) 20t October 1930 \M 23rd March 1931

(C) 26t January 1930 (D) 25% December 1931

SrgGTT LaESB, Heugmd Frey @, &5GH epeumd erillLimps SrEsledl Liul’ L eri?
A) 20 =6CLmuT 1930 | (B) 23 omis 1931

(C) 26 maneuifl 1930 (D) 25 gebuir 1931

In 1931, the Karachi session of the Indian National Congress was presided over by

(A)  Abul Kalam Azad - P Vallabhai Patel
(C) Jawaharlal Nehru : (D) Sarojini Naidu

1931~y b i@ syrédlufer penQupn Gbdw Cadlw srhlyen BT o samemo euflsseul
(A) =6 GeTD YFTH B) eaudeumil L CLed

(C) geuaniere Crm _ (D) sGrredlal pruy (B

When was the Indian Independence Act passed by the British parliament?
- .

(A)  June 28, 1947 v July 18, 1947

(C)  August 15, 1947 (D)  July 4, 1947

DA Lenr LimgmesoemSdled @hHw asbHSrE #LIb eruGunpg QuppuuL L g?
(A)  eOan 28,1947 (B) mOame 18,1947

(C)  ysevl 15,1947 D) x9me 4,1947
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16.

17.

18.

Article 51(A) of the Indian Constitution deals
(A) Fundamental Rights

M . Fundamental Duties

(C)  Directive principles of State Policy
(D) Amendment of the Constitution

@pHw sirflweernly 6lld 51(A)-aurang erensls upH GHABHHADE?
(A) eugiue 2 Aawsdr

(B)  wsigliueL sLenoser

C) sirsafsr (Hw Apdupans Carum@

(D)  @rflueenwiy sl Fmssd

Which article of the Indian Constitution granted powers to the President of India to
nominate two members from Anglo-Indian community to Lok Sabha?

(A)  Article 335 (B) Article 336

49/ Article 331 (D) Article 334

SirflweamolGen aphgy f QbHu GuuIsEs somoaumss Corssurediad opmdGuT-Gbswid
FpgTUSMmS eTTHE @re® epinleriamar Bluiflés sfHsrrn seflsdnsg?

(A) o8 335 | (B) g 336
(€) «94 331 (D) o 334

The concept of Judicial review was borrowed from

o Usa ®) UK

(C)  France (D) Australia

58 yemmie apenn QuMLILLL BTE

(A)  QuhssT - (B) @udarkg
(C) . Yymeren (D)  oevdCredlwim
HORGS/2019 8 =



19.

20.

it

Which one of the following is a state of India?

(A)

Daman and Diu (B)

\W Goa (D)

Spsasem_cuphle erg @hsluirellen wmblewm@n?

(A
©)

L_ITLDET DML EhL U] (B)

Gameur - D)

Dadra and Nagar Haveli
Chandigarh

Srgpm wOmD BreET GanGeael

&0l GIT

Match the following study teams with suitable options :

(a)
(b)
(c)
(d)

List I (Study team) _
Study team on Panchayat raj Administration
Study team on Nyaya Panchayats

Study team on Panchayat raj Finances -

Study team on the position of Gram Sabha in
Panchayat raj movement

(a) (b) (c) (d)

1 2 3 4
4 1 3 2
4 2 1 3

4 2 3

1.

Sp&sa 165 @(EEET HGHS el L e uTHSSIS :

(a)
(b)

L ©

()

(&)
(B)
©
(€0)

uligwer-I (eld @)

UEhEMUSH! e HlTeumsd uPPHIw BLUI6E G(W
Aumu LEEFTLSF ST UPHlw LIS G
uEpEmuss e A ubdlu plies G
UEEETWSSE T @wisssHlea &ymo senLiufes
Bleneullenens ser_Hlujd 16165 G

(a) (b) (©) (d)

— ER
PO R )
| ST VL R
W W N R

e, W0 o

List IT (Chairman)
G.R. Raj Gopal
R.R. Diwakar

K. Santhanam

V. Iswaran

uiligwe-IT (seneeur)

G.R. gy Camuimed

" R.R. Haunsic

K. spgremnd

V. mreveures

HORGS/2019
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21. L Obelia polyp is sessile and fixed.
1I1. Obelia mature medusa in free-swimming.
Statements are True/False
(A) (I alone true : - (B) (I) alone true
W (I) and (II) are true ' (D) (D) and (II) are false
L g¥alureder urallisd bar (piLTssTEab 6l iy d Garar B srar L@,
I @ddlurelen wpilibs Guher-saflurs Bhss gagweae.
Cuopaadw sapmy sfwur? seupr?
A I w’ @bsef : (By (ID) wl@w g
© @) wpmw (1D) sRlwTaTaes M) @) wpmw (II) g)eug)rreﬁsmeu
22, Sensitivity, congenital, traumatic, metabolic and associated with drugs, smoke and heavy
alcohol consumption are characters of
(A)  Obesity W Cataract
(C) Glaﬁcoma (D) Diabetics
> amiEAUDHBHILE, sTanall b, Grojorys, aaiflams LIpob LHHID LEBS. LM LHHD
GiaLwss5CaT(H Garryenw GCrmd
(A)  @aT_1s @i B)  smigrél
©) EEvsGsanon D) Brpley
23. In humzin, which types of cells are affected by Malarial parasite?
V Liver cell and RBC (B) RBC and WBC
(C) RBC and Ty Cells (D) RBC and Epithelial cells
weflgefler, wCaflwm el () emreamt udleorme a;rg}%_r, auens Qadser urfasau@ang?
(A)  s@erd Qe wppib Qrés Heili sigmésd
(B)  @rgs Hauly sigmissar oMb @7és CeuemenemiLgm)saear
©  Qués ey ogpidser wppb Ty, Qsdser
D) @uss Hai siemissar LHMID r9ALTSiev @Fasaer
HORGS/2019 10 pam
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Which of following is used in making printer ink, shoe polish and paint?

(A) Lamp black _ \M Bone black
(C)  Carbon black | (D) Copper black

Yemeumpeuenaupmer oFanCund, Gemiy wurdey whmbd GuGar@seais vwaTuBSSILMHD
QummeT wngl?

(A)  erse smuy ; (B)  ergyby smUL

(C)  amiuer sy ' (D) srlui sy

LCM of x* —a® and (x—a)? is
A (x*-a’)(x+a) B) («*-a’)(x-a)
\/ (x-a)’ (* +ax+a?) M) (x+a)? (& +ax+a?)

x3 —a® wpmb (x - a)® - dweupidler 5.8 1. eremLig) |
@ & -a’)x+a) | B (*-a*)(x-a)

C) (x—-a)*(x*+ax+a?) D) (x+a)’(x*+ax+a®)

A man buys 10 articles for Rs. 8 and sells them at the rate of Rs. 1.25 per article. His gain is
A 20% B) 50%

© 191w \M 561 %
2 | | 4

@ walgean 10 Ldlamser m. 8-&@ aummdl oeupen gp. 1.25 &g 10 ydlemisemer efpmmir.

D|QU(HENL LI EOITLID

A 20% B) 50%
© 19%% D) 56=%
2 4
11 HORGS/2019
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27.  How many triangles are there in the figure below?
@ 5 (B) 6
© 8 P10
SD&ETEID uanTUL Sl eTHsemen (PEGEHTEIRISET 2_6TaTen?
A4 5 B) 6
€ 8 D) 10
28. If a+b+c=13 a®+b%+c2 =69, then find ab+bc +ca
(A) 50 @/ 50
(C) 69 ' D) 175
a+b+c=13 womb a® +b% +c* =69 arafléd ab+bc +ca s
(A) =50 (B) 50
(C) 69 D) 75
29. Divide Rs. 672 in the ratio 5 : 3
(A)  Rs. 400 and Rs. 272 w(o/ Rs. 420 and Rs. 252
(C) Rs. 300 and Rs. 372 (.D) Rs. 472 and Rs. 300
5. 672-epw 5 : 3 eremts AfliLgmad Hev_LiLigy
(A) @5 400 OB 6. 272 (B)  ep. 420 wpmid e, 252
(C) 5. 300 wpmyb e 372 (D) . 472 wiHmb @ 300
HORGS/2019 12
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30.

31

a2

il

What is the difference between the compound interests on Rs. 5,000 for 11 years at 4% per
annum compounded yearly and half-yearly?

\U/ Rs. 2.04 (B) Rs. 3.06

Rs. 4.80 _ (D) Rs. 8.30

4% 681 () G\.Jl'_Lq,-Gﬁ‘ia‘s}gygﬁéb 14 %m@&@é@@j 5,000-é(5, &g DS (5 WPD SaTEEL L@
sl () U gEGD, A@TGDEG QUETh wpen seTEEALLILED sl () auligsEh 2 dmer efsHwursnd

GTGOTGHT?
(A) em. 2.04 B) m. 3.06
(©)  ep. 4.80 (D) em. 8.30

The radius of a circular cylinder is the same as that of a sphere. There volumes are equal.
The height of the cylinder is

d: s ; . ' ; y ;
% q times its radius B) -g- times its radius

(C)  equal to its radius ' (D) equal to its diameter

em CriaulL 2 (paveruflen <, 2y Canerddlenr <prsHnE &sob, Gogid jmeusafler ser
SiaTeySET FLOW eTariled CrTeul_L 2 (panerufler 2 wiyb wimg)?

A) | % LDL_TBI( DASHEH LD (B) —?: LOLBI(G <AS60 <4, TLD
(O paoLw 21580 Fob D)  yger ALLSHDEG FLOO

A man invested % of his capital at 7%; i at 8% and the remainder at 10% . If his annual

income is Rs. 561 find the capital.
(A) Rs. 5,500 (B) Rs.6,500
(©  Rs. 5,600 ' G Rs.6,600

Geul 7% cully 985580 SieumenLw (PSS 16 epemmled e LiGdanwiwb, 8% aul iy efldlgssla
SoUmOLW WPESLlgd pratdld @@ uGdamwun, Bsupdeaems 10% ey ldssdaid psdh
Qaigiarani. SeumaL I eu(BL euorand . 561 eraflé, jeument i (pseL L srers.

(&)  Rs. 5,500 - B) Rs. 6,500

(C)  Rs. 5,600 (D) Rs. 6,600

13 HORGS/2019
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33.  The length of the longest rod that can be placed in a room of dimensions 10 mx10 mx5m
is

(A)  15y3m Jl()m

(©) 10J2m (D) 543m
_ i
105 % 10 15 x 5 15 jerayear (M Siempulle, eneuLILIZDETET ¢p(h S5 udler a{aﬁ]&ugéﬁmm turrg]?
(A) 1543 Bl B) 15 Brof
(C) 1042 Brii D) 543 B

34.  If 4/4096 =64, then the value of Y4096 +/40.96 ++/0.004096 is
(A)  70.4 70.464
(C) 171.04 | (D) 714

V4096 =64, eraflés V4096 +/40.96 +/0.004096 -@én iy

(A) 704 (B) 70.464
(C) 71.04 D) 714

35.  Area of the rectangular region 2 Dy < b,-1<y<3is

(A) 9 units 12 units
(C) 15 units (D) 20 units

2<x<b, 1<y <3 9o S u@Bdn Qeeueus uEHuraema

A) 9 sEsar B) 12 siEser
(C) 15 o @ser (D) 20 s@Esdr

36. 1100 boys and 700 girls are examined in a test. 42% of the boys and 30% of the girls pass.
. Find the % of the fail. :

A)  58% | (/ 622%
D)

(C) 64% 78%

@@ Gsrenau 1100 wrenreuia@nid, 700 wramells@yb, erupgidleament. aiisafd 42% LOTEmTEU TS (@THLD
30% wremefls@nbd Gsiéél Qupdlanpant, erafle) Comeral e bGsrAer sseSsib srer.

A  58% (B) 622%
©)  64% D) 78%

HORGS/2019 14



37. Find the greatest number which on dividing 1657 and 2037 leaves remainders 6 and 5

respectively.
w 1271 B) 135
(C) 240 (D) 147

1657 wpmid 2037 Hfw G areR T, @ e auEGLHL Aurpg HamLseh B8 apen
6 wHmibd 5 erafle, auEEED WesLGuAw erarm srars.

(A) 127 _ B) 135

(©) 240 : D) 147

38. Find the missing term :

CX,DW, BV, —  GT

(A AZ B) HS

(C) EV P FU | 4
6ﬁ]®l_ll-_1_ﬁﬁ)‘$ seam(Hidly. :

X, DW, BV ————— @7’

(A AZ (B) HS

(© EV (D) FU

39.  In which type of rocks the Neolithic people had their settlements?
(A) Marble | Granite

(C)- Hard rock ' (D) Quartzite

ulw spere waflgen abs eumswrar Utapsaia shse @4 Cwhnsms Hmnedemear?
(A)  wrrler urenm ) (B) glgrenen Limen

(C) sger’ urem ' D) Gauri s

T

15 | HORGS/2019
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40.  Who established the first English factory at Surat in 1608 A.D.?

(A) Thomas Stevans M William Hawkins
(C)  Sir Thomas Roe Job Charnok

1608-1b e (h @7 Bsile (pse ymdla dsminsraaamu Blmyefuwer wri?

(A) BTG GvlecusTED ; B) eflevallwb anrsdenen
(©C) & gmoev Gy (D) @l sniprs
41. In whose regime of Governor General, Queen Victoria assumed the title ‘Kaiser-i-Hind?
(A) Lord Mayo . (B) Lord North Brook
\m’ Lord Lytton - (D) Lord Ripon

-Grl[iag. seuianit Cgenyellan U 8 srosded MsCLriiu Currd “Qelsr-g-aflbs” eamn ULLsms
G135 Qsmegrmi?
A) CuwCwr Sgy (B) mris yens Gry

(C) el rer Gy (D)  Mouer Qiyy

42. - Who mentioned Raja Ram Mohan Roy as the Father of Indian Renaissance?
(A) Keshab Chandra Sen

'M Rabindranath Tagore

(C) Swami Vivekananda

(D) William Bentinck

@S mgmmﬁs«ﬁumm Bhens eren @)Teymymb NS P— GO Berenaurt wimi?
(A)  Caayl ebdy Qeen

(B)  yeipdysns sraaf

©C) seaurd eNCeusmenbsmt

(D)  efevellwid Quenig i

HORGS/2019 : 16
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43.

44,

i

(A)
(©)

Qidwrele cuanalleotiGaer urgasTiyF FLLD Asran® eupiiul L 6@

(A)
(C)

1970
1960

1970
1960

Match the following :

(a)
(b)
(c)
(d)

(A)

©)
@)

States

Odissha

Assam
Meghalaya
Madhya Pradesh

(a) (b) (©

1
3
1
2

Qurmsgs :

@
(b)

(©)
(d)

(A)
(B)
(©)

(D)

wrbleokiseT
Quer
SIEVEVITLD
Gusmeowi:

wsHw GrCgebd

(a) (b) (c)

f o B~ B e T
W o e
- W N W

The Wildlife Protection Act was passed in IW
1972

(D) 1962

B) 1972

(D). 1962

Biosphere Reserves

1. Panna
2. Nokrek
3. Simlipal
4, Manas
(d)

2

X

4

4

2 uNTGsmeT aueThiIGSET
1. LIGUTGOTIT

2 Corailé

3. Abduted
4

LD TEOTITEN)

(@)

W - = DD

17

'HORGS/2019
[Turn ever



45. Respiratory Quotient (RQ) is

(A)  Volume of Oz consumed

Volume of CO3 evolved

Volume of CO2 evolved

Volume of Oz consumed

) Volume of Oz evolved

Volurne“of CO: consumed

Vv
D) olume of COz consumed

Volume of O; evolved

sauns el (RQ) eramug

A)  vweru@ssuu@b Oz oerey
' Geuafliu@b CO2 jeray

Qeuafliu@n COz eray

(B)
vweru®gsrumw Oz ety
© Geuatliu@®b Oz jatay
vwetuRssLLED COz iarey
© uwearu@ssuu@min CO2 @emey
D)

@euafiiu@mib Oz ojeray

46. Nutrition Atlas and Diet Atlas were published by

W ICMR (B) UNICEF
(C) WHO (D) FAO

2L 855 SILMED HMID 2 ewre| i aray Geupern Gauefludl L g
A) ICMR (B) UNICEF
(C)  WHO (D) FAO

HORGS/2019 18




47.

48.

1

Identify the important functions of regulated market committees in India and select the
correct answer using the codes :

(i)

(11)
(a11)
(iv)

(A)

Fixation of charges for weighting and brokerage

‘Enforcing the use of standardised weights

Ensuring that only “Agmark” products are marketed
Providing latest and reliable market instrumentation to the farmers

(i), (i) and (iii) only

\W’ (1), (i) and (iv) only

(©)
(D)

(i), (iii) and (iv) only
(i), (iii) and (iv) only

Qbdwrellery euEGuep elihumen s hsale Waslw Lmllsmer s Hlhs), @@uﬁ@aaanmu :

vwerLi(hédl sflwimen eflent smemr.

@)

i) -

(111)
(iv)
(A)
(B)
(©)
D)

gL WHeusH@D. STEGHEGD L enrb HlTanrub Galigse

aremm GLUDHD erepL_Ganar L [HGW LwenU(HSS cuedumsHe

‘SigLomié’ srenm dupm Aurmlser i HGL sHoslILGEsme 2 NELLRESS S
HEW wHmib phusLTar sHhomg edeurmismer efleusTudaE@nsE auh @

@), (1) wpgib (i) wL Gid
(i), (ii) wHmw (iv) WL L
(i), (iii) wHmb (iv) vl Gio
(), (iii) wHpd (iv) wLED

The population of a country will increase when

(A)
B)

Birth rates and death rates are high

Birth rates and death rates are low

7 Birth rates are high and death rates are low

(D)

Birth rates are low and death rates are high

(M Brlig e wasablsrans oids g

()
(B)
©)
D)

Kpiiy eSzept, @puy eisepd siflswrs QoesEo Aurws)
Gpliy efgapd, @oiy eSsuwid Gampeuns GHsEL Qurps
iy eigb sifswrsad, @oUy eSsb Gamparsab m&ED Curips)
Yimiiy efsib Gepeutsayd, @nLiY e§sib Siflsorsabd QMmEEnd QU

19 HORGS/2019
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19,

(B)

(B)

(D)

(B)

(D)

(B)
D)

7th January 2016

7th April 2015

snareufl 7, 2016

g 7, 2015

Nitin Katkari

Manohar Parikar.

Blfler &L sl

wGanrar urf&siT

In which year India joined Hague code of conduct against Ballistic Missile Technology?

®)
€8))

2017

2012

THE g @BHur urdldvgs gejsmen Gsmfon usdne adrms FLESIUCL Cans

World Health Day
(A) 7th November 2015
(C) 7™ October 2015
2 & F&THTT Slabd
(A)  peubur 7,2015
©)  @sGLrur7,2015
50 Who is the Vice Chau'man of NITI Aayog?
M Arvind Panagariya
(C)  Sushma Swaraj
Hé o Cuinsdlen giamants geneveur wimi?
(A)  @rellps Lensmwm
(C)  seywor seurmy
51.
(A 2014
W 2016
Qearbss), bLgms ofldéenen?
A) 2014
(©) 2016
HORGS/2019
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© D2

54.

3 2

World’s largest crude oil tanker expected to arrive at Chennai is

W M.T. New Diamond (B) Teekay
(C) Front Line . (D) Nordic American Tanker
Qzaenard:@ euy erdlTLMT&SILHD 2 maareila Wlal6lLflu s&em ereblenmi s
(A)  M.T. By enr_oam’” B) 1Cs
(C)  oLlpenrl enevet (D)  mrigé @wflésean Lrkisi
Which is the headquarters of Central Zonal Council?

(A) New Delhi (B) Kolkatta

M Allahabad - (D) Mumbai

W& 1R Seeidledlenm gmmmmu_i&b T ?
(A)  yg Heved ' (B) Gsréosssm
(C) DIDETLITE _ D) @pben -

Prime Minister inaugurates Indlas 10ngest road bridge connecting between which two

states?
(A) Assam and West Bengal
(B) Mizoram and Megalaya

W Assam and Arunachal Pradesh

(D) Mizoram and Nagaland

@idureier Berorar sewruUTOb Hs Q@ LrHloksmer maniugshars ATEDI eurserme

Fleuss L &)?
(A)  =jevevnd wHmb GoDHE eumisTenD
(B) WCGsmybd whmib Gusreowm

(C)  ieveumb wHmb Simemraa 9rGssD

. (D) VIGsTIL WHMID HrSLTHS)

21
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55.  Which framework and financing pattern of the Twelfth plan?
M Macro economic (B) Economic wealth
(C)  Micro economic (D) Economic growth
ueneflyaormeug i L sdlen &L anoliy whHmd HHuGlue e es)?
A Cw&Crm-Curmernamy (B) Qummermgry Qedaid
(©)  mew QurmaTtsTy (D) Qun@ernsmy cueriad
56.  The process of economic reforms undertaken by whom?
(A) Dr. K.R. Narayanan (B) Dr. Rajendra Prasad
\M P.V. Narasimha Rao (D) Dr. Manmohan Singh
Qurmarrgmy Frfmsersaian Qewapenn winyred Cuon@smererys UL g?
(A)  Dr. K.R. srymwemresr (B)  Dr. ynGgidly Ggens
(C)  P.V. prfiww yrey . (D) Dr. werGursen fi
*57.  In the first quarter of 2018-19 financial year India’'s GDP is
(A)  6.5% B) 6.9%
© 6.7% M 8.2%
2018-19 Hlf yerq e (s sraramgd QBHwureler Cwrés 2@ 2 pusd (GDP)
(A) 6.5% . (B) 6.9%
© 6.7% D) 8.2%
HORGS/2019 | 22
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58.

59.

' 60.

Al

Which planet was discovered by NASA’s MAVEN to have twisted magnetic tail?

(A) Venus M Mars

(C) Saturn (D) * Neptune

NASA’s MAVEN ser(5 g L9 s@mer ensrhg eume L@gd Ganer. Gamer erg1?
(A)  Venus (eerav) (B) Mars (omien)

(C) » Saturn (Gsledw) (D) Neptune (QmpLiiyebm)

Which is regarded as one of the World’s hottest hot spots of biological diversity?

(A) Rann of Kutch \MWestern Ghats
(C) Eastern Ghats (D) Sunderbans

2 @& Ijeredla aThs L hot spot erer 2 uffwed um@aggs&rmm—uﬁleb SiempssuhaDS?

(A) - Rann of Kutch (7Gar 240 L&)
(B) Western Ghats (Cun@ wearesdgm_i)
(C) Eastern Ghats (dpé&@ weawsbsm_i)

(D)  Sunderbans (sBgreuad)

Simplify the given Boolean expression
Y =ABC +ABC + ABC + ABC

i © (B)

A
© B | ® B
' QarRéstiul_Herer elwer SwaTurl L. S(H&Es.
Y=ABC +ABC + ABC + ABC
@Aa C B A
(C) B D) B
23 : HORGS/2019
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- 61.  Match the following :

Newspapers Editors
(a) Vande Mataram 1. M.M. Malviya
(b) | Maharastra 2. Firoz Shah Mehta
(¢) Hindustan" 3 Aurobindo Ghosh
(d) Bombay Chronicle 4.  B.G. Tilak

@ ® © @

\%3_.4 1 2

B 2 4 3 1

C) 4 3 1 2

D 1 2 3 4

@ n@,&,@;a; :

ugHfEmasar _ uduurflfwursear

(@)  auibGs s 1. M.M. wrereflur

(b) wsrrTayLyT 2. | QuCrmav agr CogsT
() el '@geﬁ)g,rrm ' 3. <2iyellbg Gama
| (d) urﬁ.b@u Srrafl&ae0 4. B.G. st

(a) (b) (c) (d)

A) 3 4 1 2

B) 2 4 3 1

© 4 3 { .. 19

o 1 2 3 4
HORGS/2019 24
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62.

63.

64.

i}

Who was the President of Hindu Mahasabha in 19387
W’ V.D. Savarkar (B) Pt. Madan Mohan Malaviya
(C) Bala Gangadhar Tilak (D) Swami Vivekananda
1838-a QbgI war genLublen SeaveurTas @(HHbGeuT wmi?
(A) V.D. seunirésmr . (B) uenrgl wgen Cuonsear wmeredluim
(C)  ure smsTST SesT - D)  seumd NCeusranbsT
How many members were nominated by the British in the Cabinet Mission in 1946?
(A) Five members (B) Six members
(C) Four members W Three members
1946-0 rdCeowrsarmd BlublssiulL si@wésTmea ggsGwailar o publeanser Grg,g,mauf
Guir?
A)  mhg Gur B)  <m Gu
(&) 'pn'@‘m@ Guir (D) _{gae'tn@l Gurr
Which_ Article of the India-m Constitution says that the ‘State shall provide free and
compulsory education to all children of the age of six to fourteen years in such a manner as
the state may determine’? ' '
A 21 ’ - @/ 21A
(Cy 22 (D) 22A
‘M (pse LiFlenen(s auigl euenyuilanaT GLHMSHEHES SiTH STorals@d eull wpenuild Gees
WHOID SLULTwé So6l uphGTD’ arers samib @bdlw irfluaeawiiy efld erg? |
A 21 (B) 21
© 22 D) 229
25 HORGS/2019
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65.

‘Who is regarded as the “Father of All-India Services”?
(A)  Lord Macaulay | (B) Lord Cornwallis
(C) B.R. Ambedkar- \VSardar Vallabai Patel

sidlo QpSu ueflselien ghag eramm HHsTT Yifeuons iepssL@Uet wri?
(A) GQusstCe Gy (B) smyemeunalen 19y

©) Q.o swCugsi (D)  &igmi euceumi UGLed

66. The 59" Amendment Act, 1988 provided that necessary restrictions could be imposed on
W liberty of individual and life (B) economic rights
(C)  cultural rights (D) religious rights
596ug t-_v;mé]u_laﬁsmmuq sl Sl(mésih 1 988.mé;aaaﬂcb1 abg 2-few Bg senLsmen a8 s551?
(A)  safipufer aurpey wHmib sshEy 2 Aevn  (B) Qurerngmy 2 flenw gy
(C)  sorgary o few Bg) (D) g 2 fenw Bay
67. The number of Benches of Central Admin_istrative Tribunal in India is
@ 15 G 17
(C). 19 (D) 21
QbHurelle e drer wgHw Aireunas SriiumusHaumLw oiwireseien eramaflsma
(4) 15 B) 17
© 19 . (D) 21
68. Fifth General Elections was held on
1971 : (B) 1972
(C) 1973 (D) 1974
- gpgreaug) Gungis Cerge peaLCupp <T@
(A) 1971 (B 1972
() 1973 (D) 1974
HORGS/2019 26
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69.

70.

Tl.

1t

Which one of the following pair is not correctly matched?

Art. 280
Art. 315

Finance Commission
UPSC
Election Commission

National Comrhission.for SC

Spsar_eundle ereneu eflwrs Gurmbaedldane?

(A)
(B)
©)
(D)

afd) 280
o4 315
94 324
aid) 328

Bl L enewTiD

wi S GgreuTenamrD

Csiige yenamriiid
STp&SUULCLT(hésTer CHIlul < enemrwib

Who was the first Chairperson of National Commission for women?

M Jayanti Patnaik

©

Poornima Advani

(B) Mohini Giri
(DY Girya Vyas

Caélw waellT oenenT &Sl (P56 SemeEUT WITiT?

(A)
©)

‘A population is a group of

(A)
B)

Clepuwibd) L mmuis
L renflom igeumef

®) Corfad Hif
(D)  &iflspmr eSlwime

species in a community

communities in an ecosystem

\M individuals in a species

D)

individuals in a family

W&H&ET HSTans eS| @ (L)&HSarTea

(A)
B)
©)
D)

FPSTILISS el erer @) e BisaT
Gblency et _egdlayerer o wiflans sapgmuib

o uiflensdlen 2 Wifseflem crapranflgGeans

@Hwusder 2 uifsaflen cramentlsans

27
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72 The number of coulomb required to liberate 127 g of iodide from potassium iodide solution is .
(A) 53 coulombs : (B) 7 coulombs
W 96500 coulombs (D) 127 coulombs

127 &l oGumgenar, QUL mélwus SCuran_( sayselamHs) CeuaflGupps CameuiuBib sagydle

GTERIT Tl 60 a5
(&) * 53amgibasr. | | B Pl -
(C) 96500 smayibsaer ' D) 127 5 D &G

73.  Which of the following is the ore of titanium?

\M Rutile (B) Hausmannite
(C)  Wolframite : (D) Scheelite

&Qéaﬁa’t.m_smj)@m orgl L GLaflwugdlen grg?
A)  mleie (B) | enrevweiemen_

(C) o d@slremiol. D) Severr_

74. Which 1s a Lewis base?

(A)  B,H, @/ NH,

(©)  LiAlH, D) AlH,

Demeu(meuaneldBled ergy @uilen smyib?

(A)  B,H; (B) NH,
(C)  LiAlH, z ~ (D) AlH,
HORGS/2019 28 (=



75.

76.

T7.

Tt

What is probability of getting more than 5 when a dice is thrown?

(4)

N 4

(B)

D)

D= |
Do O

@ useL 2 UL LU@WD Gurg 5-mH@E Cwe HenLLiugnarer flspbsse] erere?

5 1
G | B =

1 2
@ 3 D) 3

A refrigerator is purchased for Rs. 14,355, including sales tax. If the actual cost price of the
refrigerator is Rs. 13,050, find the rate of sales tax. '

A 1% | B) 8%

(C) 9% _. M 10%

@@ Galistsea Guligeaw, elhumear euflCun® Cardg en. 14,355-4@ aflnslufdlng. oisen
-2 a@menwmran eurnidlw edlenay ¢m. 13,050 erafled eflpuenar eufl sgaissmgs sremts. :

@A) 11% (B) 8% |

€ 9% D) 10%

If [2p+~l—]:4, the value of £p3+ 13115

p 8p
@ 4 5
(C) 8 D) 15
[2p+l]:4srsﬁﬂsi{p3+ 1 ]—sinmﬁl'_l

p 8p* ;
A 4 _ B) 5
© 8 (D) 15
29 ~ HORGS/2019

[Turn over



78. Six people A, B, C, D, E, F are sitting on the ground in a hexagonal shape. All the sides of
the hexagon so formed are of same length. A is not adjacent to B or C. D is not adjacent to
Cor E, B and C are adjacent, F is in the middle of D and C. Which of the following is not a

correct neighbour pair?

\U( Aand F (B) DandF

(C) BandE . (D) CandF

A, B,C D, E, F a8Cunt ommCamesr Guq.eﬁ‘&;ﬁeb sLoWTer HHE® @inibgarereant, A-ujb B-uyb
Simsrawuisn Game, 2Gs Cured Aub, Cuib wmarenuda Gdme, D-yb C-sgw, E-s@wn
@marowldao Gama, B-uyb C-uyb 2iméler e ererant, F erarug D-s@b pheled o drarg. &G

2_GTeTeuHmIET a8l Si(Hamanouile Gawrs Ceomg.?

A A-yo F- B) D-yb F-b
(€C) B-unE-b (D) C-yw F-b
79. In the following series, a wrong number is given, find out that wrong number.

4, 5, 10, 18, 34, 59, 95

A 34 (B) 59

W 10 (D) 18

erreu(mid Glamifle seumnmem erarenantd seir (.
4,5, 10, 18, 34, 59, 95

A 34 (B) 59

© 10 D) 18
HORGS/2019 30 =



80.

81

82.

i

The ratio of the area of a square to that of the square drawn on its diagonal is

@ 11 gn/zzz
© 13 - D) 14

am sgrsder LTLGHED, SS@ILL epmaeil LD euflurs ua@Tuuu@D sgysdlen LrU9hEb

o arem eSl&lgnmeg)
A 11 (B) 1:2
(C) 138 D) 14
The value of |1+ L 1+ : 1+ 1 1+ 1 18
x+1 x+2 x+3 x+4
1 ' 1
A) 1 B
&) +x+5 B) x+5
M' x+hH ’ _ D) x+1
x+1 x+5
[1+ . }{1-& L :H1+ L }[IWL 1 }—einmgf,\uu
x+1 x+2 x+3 x+4
1 ' 1
A 1 B
@) +x+5 . B) x+5
©) xX+95 D) x+1-
x+1 xX+5

If the surface areas of two spheres are in the ratio of 4:25 then the ratio of their volume is

(A) 4:25 (B) 25:4

€ 1258 ‘ G 8125

@ Camemiusatian Ly s 4:25 arafle), oigan sar iae, alldlgn

(A) 4:25 (B) 25:4
(C) 1258 (D) 8:1256

31
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83.  If the side of a square be increased by 4 cms, the area increases by 60 sq.cms. The side of the
square 1s

(A) 12cm (B) 13 cm

(C) 14 cm : W&B cm

M sgIHSlen Lssid 4 Qs.8 sfaNaEn Cung eisear Lrluearey 60 5.0s.18 21dlsfadng aafler sibs
EGITSEEM LSS (66 cTerer?

(A) 12em (B) 13cm
(C) 14 cm . ‘ (D) 5.5em

84.  The cost of levelling a rectangular ground at Rs. 1.25 per sq.m is Rs. 900. If the length of the
ground is 30 m, then the width is

(A)  330m (B) 34m

W 24m D) 18m

@@ Cocieus owstades 517 SigéE . 1.25 aisn slQeiu gEh Qsaa 5. 900 < sLb.
2ibawsrasdler Harb 30 m eafler g6 sis0smS ST,

(A) 330m (B) 34m
(C) 24m ' (D) 18m

85. 120 men had provisions for 200 days. After 5 days, 30 men died due to an epidemic. The
remaining food will last for

& 150 daye | (B) 1461 i

() 245 days \M 260 days

120 Guir, 200 pris@néE Comauwrean 2 awreyls QUL semer ameuggemenan. 5 ;r;rr;&@a;@u Yo
30 Guir QgmpmCrrure Qphe ofl Gdement, erafle) Bgparer o emres Qummer eThgman B S EH6@

QéEb?
(A) 150 prlser _ (B) 146% BrL&eT
(C) 245 pmiser (D) 260 Briger
HORGS/2019 32 p



86.

88.

|

The unit of currency used for trade during Rig-Vedic period was

W Niska - (B) Rupee

(C) Pagoda ' (D) Coin

fé Ceug srasded auraflasde LwearuRSSUILLL BTy 6@ eT8I?
(A)  Hlegsr . (B)  epumd
(C)  uGsmm D) ars

At the time of Alexander’s invasion Chaﬁakya was a teacher in which University?
(A) Nalanda University |
(B)  Vikramasela University

Takshasila University

(D)  Varanasi University

<Cesevram flar uemLw@ELder Gurg sramssu aﬁg, vosmasspadHear - Hflwgrs
Boosmi?

(A)  PraTHEST ULSMSSPSD

(B)  efépwian LbsmasspSLD

(C) slafo LOEDOESPSD

(D)  aumpewrd LLFEMOEHPED

What was the original name of Mian Tansen, the best singer of Akbar’s time?
(A) Makaranta Pande Ramtanu Pande
(C) Haridas Pande (D) Swami Haridas

SIGUT sTsHd @ @kEs Lspdunn ursi Wwrer greardsearaflan @wnGlLw ereren?
(A)  wsyrearLm ureTGL (B) gmbsrey unemGL

(9)) maﬁlg,-rrm umesorGL D) seumd apflgrev
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89.

90.

91.

Who 'put an end the Dual system of administration setup by Robert Clive?
M Warren Hastings (B) Lord Wellesley
(C) Lord Cornwallis (D) Lord Hastings

gruil Semereured Gamam(H eurliul L Qe o 8 apeperws (pigeéeE Qarem () aubseur wmi?
(A)  eumger Camenig Hiev ‘(B)  GQoeuéevaved iy
(C)  smpemeumadlev Sy (D)  Camevig men Gy

‘Mudumalai Wildlife Sanctuary’ is located in
(A) Rajasthan (B) Sikkim

y Tamilnadu (D) Bihar

(WPSIDE Guanell ek GaeT arr,fmrrsomm SN DB ETer @ 1D
A)  @oremevsrer ' (B) &&db
©) sApETH : (D)  Sepmir

The Wild Ass Sanctuary lies in
(A) Assam (B) Guarat
(C) Maharashtra ' y Tamilnadu

STL() S(PENG FTERTTEOWILD GTThIE, DEDLDHEIETETS) ?
(A)  @ewevmb B) ©nrs
(C)  wargrevigFm (D)  sBlpsrEH

92. y of the following ‘“Tiger Reserve’ is located in North India?

Dudwa (B) Bhadra
(C) Kalakad ) (D) Bandipur

- Speumauareuppier eul @pHwireded Siamwhgiater ‘LeSladt sminsh’ erg)?

(A)  miseur B)  ugyr
(C) seaasr() (D) vk
HORGS/2019 34
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93.

94.

5

Which one of the follpwing was the purpose of project elephant?

(A)

(B)

To kill elephants

To put elephant in the zoo

\M To protect elephant from illegal hunting

(D)

To put elephants in the island

SDSE@TLeUDMIET THDSTE WITERETSET LITGIGTLIL| S gHuBESULLLS?

(A)
(B)
©

(D)

WITGHEITSEHGIT Gaarrzbajg;b@
WITENEN&ET eUaTalleVhi @ FrammaiSEa Sient S5e
winepangamer Geul_amLwr(Heudled mhg UTSHISTSSD

WITEnEnEEaT S 5616 2{enL_G&ed

 According to Fluid-Mosaic model, Plasma membrane is made of

(A)
®B)
(©)

Cellulose and hemicellulose
Phospholipids and hemicellulose

Phospholipids and intrinsic proteins

y Phospholipids, intrinsic and extrinsic proteins

fyeu-Qorenssd wrflufler L, DeTTEULLT FEUGTEIE ————<D46) H6TG).
(A)  QeogyGamey whmib dansltadaiGaren

B)  urevGurellldl Haar wHmib GandlcewgGaomen

(C)  umevCGurethbll (D& hmib E._G:I'fﬁ“FTI'FI:I'f_é‘Q} U SRIgEET

D)

umeGureS AL [H&ET, o drarmihs Lysn&ear hmib Geuefliiymly LFshear
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95.  In India, seasonal unemployment and disguised unemployment are found in the

M Agricultural Sector : (B) Industrial Sector

(C)  Service Sector _ (D) Trade Sector

Gpdureia umaste Camauidaamwoub, weps Coumaudaremowb sramiu@n g
(A Geuerman gyenm ' (B) @zmfled gienm

(©) Caeneus gienm (D)  eueflas g

96. In India, the Industrial Development Bank of India was started in the year

\y/ 1964 @) 1963

(C) 1965 ' (D) 1961

@ndlwreila, @rdu AsmAd cuetréd curtid QgmLrusiul L oye@r®
(A) 1964 (B) 1963

) 1965 (D) 1961

97. ~ Which one of the following is not a direct tax?
(A) Income Tax Wealth Tax
(C) Expenditure Tax WSer\uce Tax

Yleimeu(meuemeunmiar 618l Crirps auifl e ?

(A)  eugmomen auf] ' (B) GCergg eul
(C) dseweayeuf (D) Geeneu eurf
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98.

99.

100.

1

Dualistic nature of Indian economy refers to

M Co-existence of developed and under-developed segments of the economy
(B)  Co-existence of socialism and capitalism
(C)  Co-existence of public sector and private sectors

(D) Co-existence of governments interactions and non-interactions with discrimination

@QrlaL serewwerer Qb QummertsTyb eTms &DISH DS eTanmTea

(A)  euarmpg LHYL aarTEs QUDTE AUTHETTSTTERSET Q(HEIS®aTHES)

(B)  ewsgiwb whmb pserailggieun @@aﬁmw@@

(C) Qurg siemm mmgjab ST Eienna(EnLe ¢ (hhi&lenen bog)

D)  @flan Qeweurfhsdr Ho gmnsallcd mridlamanhbg)d, eladub Cugib sm_(Hge

The First Five Year Plan laid more emphasise upon

(A) Infrastructure development Agriculture

(C) Industry (D). Removal of poverty
‘@pporag ghstar@ AL b ———————&@ afls e édlusgieud delissg
(A) Q_G‘I‘I’&I'_II_GE)LDQI_] eueTTES - (B) efleusmuib

(©) -Glg,rr@g’)srrémm ' (D)  eumenwo ﬁé;@}géu

5

Who has introduced Mahalwari system?

(A)  Thomas Manroe m\"llham Bentinck
(C) Corn Wallis Wellesley

waweundl emen AMWPSLLBSEWT wir?
(A) - gnwev warGrm (B) efldeSlwib Quarigé
(C)  a&myen sumedlew ' : (D) Qeusbevsued
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